—155

—160

=5

—165

—170

—175

Films per user
Predictive Log Likelihood

—180

—360

—370

— —310
)
o & —320
—
I -g‘) 330
S - -
%o
=y —340
ad
2 @ —350
£3
[SaRe)
(5]
St
[aW

Number of users = 50

0.010 0.015

T
0.020

.

0.010 0.015

Time (Seconds)

T
0.020

—480

—500

—520

—950

—1000

—1050

—1100

—1150

Number of users =

150

T T
0.010 0.015

T
0.020

—

T T
0.010 0.015

Time (Seconds)

T
0.020

—950

—1000

—1050

—1100

—1150

—1200

—1900

—2000

—2100

—2200

—2300

Number of users = 300

—— Globally Importance Weighted RWS

—4— Massively Parallel

RWS

T T
0.010 0.015

Time (Seconds)

T
0.020



